e V3 % jrir- “ _ 8 8
8 114 F 2FApERE le =R
L v L
Vo axq
#1: 13 ZZ{B(121.1) #2: 3 Oceans(103.05) #3: 1 BEFX(103.03)
1 NS: 2% W¥afaEI0) -17 9 NS: =88 5REKIZ(BAC) -37 VP:| 15.75 : 4.25 | Total VP: 103.03 Rank:
EW: =6 JREEEEAC) 37 EW: 2175 E=51(B0) 17 IMP:| 29 10 3
- .
# 11 a 52 4HW4 -420 Mean: 3CXS3 470 130 1 ||# 12 » 962 3NE3 -400 Mean: 3NE-2 100 80 1
v T4 4CN-3 -150 -330  4CN-3 150 50 1 v QT84 3NE3 -400 -240  4NW-1 50 7.0 1
¢ T53 Dif: -270 NS:-3 3HW3 140 50 1 ¢ Q9653 Dif: 0 NS:-4 3NE-1 50 70 3
» AQJ832 IMP: -7 EW:-5 3HWA4 170 40 1 a3 IMP: 0 EW:4 3NE3 400 40 7
KQ7 » T963 4HW5 450 30 2 ||a KT5 » AQ4 3NE4 430 50 2
v AK8762 v J53 4HW4 -420 -3.0 7 ||e J953 I v K7
* 72 + KQJ9s 5CXN-4  -800 -10.0 1 ||e K8 ¢ J74
& 65 s K & K987 & AQJTS
*eveN LA ®eveN L J873
N 3~~~1¢Q9 N ~~~~~ ¢ A62
S 3~~~1 ¢A64 S ~~~~~ o4 AT2
E ~342~ aT974 E 4~~~3 a642
W ~342~ Wi4~~~3
#13 » AQ7 2NS-2 -200 Mean: 2NS3 150 40 1 ||# 14 & AK 4SW-1 50 Mean: 3NW-2 100 30 2
v Q942 2NS-1-100 0 2NS2 120 30 4 v JT53 3NW-150 0 3NE-2 100 30 1
¢ 9832 Dif: -100 NS:-5 1NS2 120 30 1 ¢ T65 Dif: 0 NS:2 5DE-1 50 20 1
»92 IMP: -3 EW:3 1NS1 90 30 2 » 8642 IMP: 0 EW:-2 4SW-1 50 20 6
s J54 N s T632 2NS-1 100 -3.0 4 ||s Q987543 sJ 3NW-1 50 20 1
v J65 v AT8 3NS-2 200 50 1 ||v AKS8 v 97 3SW3 140 -40 1
+ KQ74 + +6 S22 200 50 1 ||e Ja + AK9873 sW4 70 50 1
& KT6 & QJ543 & Q & KJT7 4SW4 -420 9.0 1
®eveN LKOS ®IveN ,T62
N ~22~1 ¢K73 N ~~~~~ ¢ Q642
S ~22~1 ¢AJTS S ~~~~~ Q2
E 1~n~~~ aAS87 E ~4~41 aA93
W1~~~~ W ~4~41
# 15 » KJ532 5SXS-1-200 Mean: 4SXS4 790 130 1 ||# 16 » JT74 4SS5 450 Mean: 6SN7 1010 11.0 1
v T94 4HE4 -420 10  4SS4 620 120 4 v K5 4SS5450 450  4SS7 510 20 2
+ Q6 Dif: 220 NS:-5 5HW-1 50 10 1 *5 Dif: 0 NS:0 4SN7 510 20 1
» 954 IMP: 6 EW:10 5SXS-1 200 -50 1 » AQ9873 IMP: 0 EW:0 4SN6 480 10 2
s Q9 a7 4HW4 420 -10.0 5 || 98 s 52 4SS5 450 0.0 5
v AQ762 v KJ85 4HE4 420 100 2 || J832 —_ v AQ764 5CN6 420 1.0 1
¢ JT8 ¢ A532 ¢ T9732 + KQsé 2NS6 240 5.0 1
& KQT & 8632 & JT & 52 6SS-1 50  -11.0 1
®eveN LAT864 ®+veN L AKQ63
N ~~~3~ @3 N 6~~66 «T9
S ~~~3~ ¢K974 S 5~~52 ¢AM
E 224~~ aAJ7 E ~~~~~ &K64
W 224-~~ W ~~~~~
#17 a75 3NN-1-50 Mean: 3NS4 430 70 1 ||#18 & Q975 4S5S4 620 Mean: 5SS5 650 7.0 1
v QT98 3NS-4-200 150  3NN4 430 7.0 1 v KQJ82 4SS-1-100 370 4SS5 650 7.0 2
+ QJ5 Dif: 150 NS:-5 3NN3 400 60 3 . Dif: 720 NS:6 4SS4 620 6.0 5
» Q976 IMP: 4 EW:8 3DE-3 150 0.0 1 & AJ95 IMP: 12 EW:10 2HXW-2 300 -20 1
» AQ2 » J93 2NN3 150 0.0 1 ||a K3 4 AT8 2DXW-1 100 7.0 1
v AJ53 v 642 2ss2 110 1.0 1 ||v T9753 v 64 2DXE-1 100 70 1
¢ 87432 ¢ KT9 2NN2 120 1.0 1 []|e Q943 + K852 48S-1 100 -100 3
& & T432 3SS-1 -50 5.0 1||s Q4 & KT62
®IVON L, KT864 3NN-1 50 50 3 P¢VEN 4 J642
N 4~~32 K7 3NS-4 200 80 1[N 2~~32 ¢A
S 4~~42 ¢A6 S 2~~32 ¢ AJT76
E ~~~~~ aAKJ8 E ~1~~~ &873
W ~~~~~ W ~1~~~
#19 » 94 3DS5150 Mean: 3NS4 430 70 1 [|# 20 » KJ43 4DN5 150 Mean: 5DS5 600 70 1
v9 3DN4 130 120  3SE-2 200 20 1 v K63 3NN-1-100 300 3NS3 600 7.0 6
« K97532 Dif: 20 NS:1  2NS4 180 20 1 ¢ JT652 Dif: 250 NS:-4 2HE-2 200 -3.0 1
» QJ74 IMP: 1 EW:0 3DS5 150 1.0 2 a A IMP: 6 EW:9 4DN5 150 40 1
# KJ65 # QT873 3DN5 150 1.0 1 ||s A65 » QT87 2SN2 10 50 1
v KQT7 v 8542 3DS4 130 00 3 ||v AJT2 + v Q985 5DN-1 100 9.0 3
+ Q84 T 3DN4 130 00 2 (|e 83 ¢4 3NN-1 100 9.0 1
& T9 & A53 3SE-1 100 1.0 1 ||s Q865 & J732
PEVEN LA2 3NS-1 50 50 1 POIVEN 4,92
N 55~ ~2 ¢AJ63 3NS-4 -200 -80 1 N ~5~~3 74
S 55~~2 ¢AJ6 S ~5~~3 ¢ AKQ97
E ~~11~ aK862 E ~~1~~ a&KT9%4
W ~~11~ W1~1~+~




G- < 2
8 114 ¥ Z 2ABERE Bl = RS 8
L v L
Vo axq
#1: 13 ZZ{B(121.1) #2: 3 Oceans(103.05) #3: 1 BEFX(103.03)
2 NS: HEZE KREJHGHO) 2 11 NS: FFHIEZ FEEZES)(BAg VP:| 6.28 13.72| Total VP: 76.07 Rank:
EW: FiEE S=aEZEIC) -1 EW: RHET SHET(F( IMP:| 22 33 7
_ __ __
# 11 a 52 4HWS5 -450 Mean: 3CXS3 470 130 1 ||# 12 » 962 3NE4 -430 Mean: 3NE-2 100 80 1
v T4 3HW3 -140 -330  4CN-3 150 50 1 v QT84 3NE3 -400 -240  4NW-1 50 70 1
¢ T53 Dif: -310 NS:-3 3HW3 140 50 1 ¢ Q9653 Dif: -30 NS:-5 3NE-1 50 7.0 3
» AQJ832 IMP: -7 EW:-5 3HW4 170 40 1 a3 IMP: -1 EW:4 3NE3 400 40 7
KQ7 » T963 4HW5 450 30 2 ||a KT5 » AQ4 3NE4 430 50 2
v AK8762 v J53 4HW4 -420 -3.0 7 [|v J953 I v K7
* 72 + KQJ9s 5CXN-4  -800 -10.0 1 ||e K8 ¢ J74
& 65 s K & K987 & AQJTS
*eveN LA ®eveN L, J373
N 3~~~1¢Q9 N ~~~~~ ¢ A62
S 3~~~1 ¢A64 S ~~~~~ o4 AT2
E ~342~ aT974 E 4~~~3 a642
W ~342~ Wi4~~~3
# 13 » AQ7 2NS-1 -100 Mean: 2NS3 150 40 1 # 14 & AK 4SW4 -420 Mean: 3NW-2 100 30 2
v Q942 INS190 o 2NS2 120 30 4 v JT53 4SW-150 0 3NE-2 100 30 1
¢ 9832 Dif: -190 NsS:-3 1NS2 1200 30 1 ¢ T65 Dif: -470 NS:-9 5DE-1 50 20 1
»92 IMP: -5 EW:-3 1NS1 20 3.0 2 » 8642 IMP: -10 EW:-2 4SW-1 50 20 6
s J54 N » T632 2NS-1 100 -3.0 4 ||s Q987543 sJ 3NW-1 50 20 1
v J65 v AT8 3NS-2 200 50 1 ||v AKS8 v 97 3sW3 140 -40 1
+ KQ74 + +6 S22 200 50 1 ||e Ja + AK9873 sW4 70 50 1
& KT6 & QJ543 & Q & KJT7 4SW4 -420 9.0 1
®eveN LKOS ®eveN ,T62
N ~22~1 ¢K73 N ~~~~~ ¢ Q642
S ~22~1 ¢AJTS S ~~~~~ Q2
E 1~n~~~ aAS87 E ~4~41 aA93
W1~~~~ W ~4~41
# 15 » KJ532 4SS4 620 Mean: 4SXS4 790 130 1 ||# 16 » JT74 4SS5 450 Mean: 6SN7 1010 110 1
v T94 4SS4 620 10  4Ss4 620 120 4 v K5 5CN6 420 450  4SS7 510 20 2
+ Q6 Dif: 0 NS:12 5HW-1 50 10 1 *5 Dif: 30 NS:0 4SN7 510 20 1
» 954 IMP: 0 EW:-12 5SXS-1 200 -50 1 » AQ9873 IMP: 1 EW:1 4SN6 480 10 2
s Q9 a7 4HW4 420 -10.0 5 || 98 s 52 4sS5 450 0.0 5
v AQ762 v KJ85 4HE4 420 100 2 || J832 —_ v AQ764 5CN6 420 1.0 1
¢ JT8 ¢ A532 ¢ T9732 + KQsé 2NS6 240 5.0 1
&« KQT & 8632 & JT & 52 655-1 50 1.0 1
®eveN LAT864 ®+veN L AKQ63
N ~~~3~ @3 N 6~~66 «T9
S ~~~3~ ¢K974 S 5~~52 ¢AM
E 224~~ aAJ7 E ~~~~~ &K64
W 224-~~ W ~~~~~
#17 a75 3NN3 400 Mean: 3NS4 430 70 1 ||#18 & Q975 4SS5 650 Mean: 5SS5 650 7.0 1
v QT98 3SS-1-50 150  3NN4 430 70 1 v KQJ82 2DXW-1100 370 4SS5 650 7.0 2
+ QJ5 Dif: 450 NS:6 3NN3 400 60 3 IS Dif: 550 NS:7 4SS4 620 6.0 5
» Q976 IMP: 10 EW:5 3DE-3 150 0.0 1 & AJ95 IMP: 11 EW:7 2HXW-2 300 20 1
» AQ2 » J93 2NN3 150 0.0 1 ||a K3 4 AT8 2DXW-1 100 7.0 1
v AJ53 v 642 2sS2 110 1.0 1 ||v T9753 v 64 2DXE-1 100 70 1
¢ 87432 ¢ KT9 2NN2 120 1.0 1 |]|e Q943 + K852 4881 100 -100 3
& & T432 3SS-1 -50 50 1 ||e Q4 & KT62
®IVON L, KT864 3NN-1 50 50 3 P¢VEN 4 J642
N 4~~32 K7 3NS-4 200 80 1[N 2~~32 ¢A
S 4~~42 ¢A6 S 2~~32 ¢ AJT76
E ~~~~~ aAKJ8 E ~1~~~ &873
W ~~~~~ W~1~~+~
#19 » 94 3DS4 130 Mean: 3NS4 430 70 1 [|# 20 » KJ43 2HE-2 200 Mean: 5DS5 600 70 1
v9 3DN5 150 120  3SE-2 200 20 1 v K63 3NS3 600 300 3NS3 600 7.0 6
+ K97532 Dif: 20 NS:0 2NS4 180 20 1 ¢ JT652 Dif: -400 NS:-3 2HE-2 200 3.0 1
» QJ74 IMP: -1 EW:-1 3DS5 150 1.0 2 a A IMP: -9 EW:-7 4DN5 150 40 1
» KJ65 # QT873 3DN5 150 1.0 1 ||s A65 » QT87 2SN2 10 50 1
v KQT7 v 8542 3DS4 130 00 3 ||v AJT2 + v Q985 5DN-1 100 9.0 3
+ Q84 T 3DN4 130 00 2 (|e 83 *4 3NN-1 100 9.0 1
& T9 & A53 3SE-1 100 1.0 1 ||s Q865 & J732
PEVEN LA2 3NS-1 50 50 1 POIVEN 4,92
N 55~ ~2 ¢AJ63 3NS-4 -200 -80 1 N ~5~~3 74
S 55~~2 ¢AJ6 S ~5~~3 ¢ AKQ97
E ~~11~ aK862 E ~~1~~ a&KT9%4
W ~~11~ W1~1~+~




e V3 % jrir- “ _ 8 8
8 114 F 2FApERE le =R
L v L
Vo axq
#1: 13 ZZ{B(121.1) #2: 3 Oceans(103.05) #3: 1 BEFX(103.03)
3 NS: Sz B (GH0) 9 5 NS: #lEF] BR<FR(BAC) 1 VP:| 11.85 : 8.15 | Total VP: 103.05 Rank:
EW: 8B 18 ZEBEEIC) -1 EW: i35 BRiEsR(BO) -9 IMP:| 24 19 2
_ __ _
# 11 a 52 4HWS5 -450 Mean: 3CXS3 470 130 1 ||# 12 » 962 3NE3 -400 Mean: 3NE-2 100 80 1
v T4 4HW4 -420 -330  4CN-3 150 50 1 v QT84 3NE-150 -240  4NW-1 50 70 1
¢ T53 Dif: -30 NS:-3 3HW3 140 50 1 ¢ Q9653 Dif: -450 NS:-4 3NE-1 50 7.0 3
» AQJ832 IMP: -1 EW:3 3HW4 170 40 1 a3 IMP: -10 EW:-7 3NE3 400 40 7
KQ7 » T963 4HW5 450 30 2 ||a KT5 » AQ4 3NE4 430 50 2
v AK8762 v J53 4HW4 -420 -3.0 7 [|v J953 I v K7
* 72 + KQJ9s 5CXN-4  -800 -10.0 1 ||e K8 ¢ J74
& 65 s K & K987 & AQJTS
*eveN LA ®eveN L, J373
N 3~~~1¢Q9 N ~~~~~ ¢ A62
S 3~~~1 ¢A64 S ~~~~~ o4 AT2
E ~342~ aT974 E 4~~~3 a642
W ~342~ Wi4~~~3
#13 » AQ7 2NS3 150 Mean: 2NS3 150 40 1 ||# 14 & AK 5DE-1 50 Mean: 3NW-2 100 30 2
v Q942 2NS2120 o 2NS2 120 30 4 v JT53 3SW4-170 0 3NE-2 100 30 1
¢ 9832 Dif: 30 NS:4 1NS2 1200 30 1 ¢ T65 Dif: 220 NS:2 5DE-1 50 20 1
»92 IMP: 1 EW:-3 1NS1 20 3.0 2 » 8642 IMP: 6 EW:5 4SW-1 50 20 6
s J54 N » T632 2NS-1 100 -3.0 4 ||s Q987543 sJ 3NW-1 50 20 1
v J65 v AT8 3NS-2 200 50 1 ||v AKS8 v 97 3sW3 140 -40 1
+ KQ74 + +6 S22 200 50 1 ||e Ja + AK9873 sW4 70 50 1
& KT6 & QJ543 & Q & KJT7 4SW4 -420 9.0 1
®eveN LKOS ®eveN ,T62
N ~22~1 ¢K73 N ~~~~~ ¢ Q642
S ~22~1 ¢AJTS S ~~~~~ Q2
E 1~n~~~ aAS87 E ~4~41 aA93
W1~~~~ W ~4~41
# 15 » KJ532 4HW4 -420 Mean: 4SXS4 790 130 1 ||# 16 » JT74 4SS5 450 Mean: 6SN7 1010 110 1
v T94 4HE4 -420 10  4SS4 620 120 4 v K5 4SN6 480 450  4SS7 510 20 2
+ Q6 Dif: 0 NS:-10 5HW-1 50 10 1 *5 Dif: -30 NS:0 4SN7 510 20 1
» 954 IMP: 0 EW:10 5SXS-1 200 -50 1 » AQ9873 IMP: -1 EW:-1 4SN6 480 10 2
s Q9 a7 4HW4 420 -10.0 5 || 98 s 52 4sS5 450 0.0 5
v AQ762 v KJ85 4HE4 420 100 2 || J832 —_ v AQ764 5CN6 420 1.0 1
¢ JT8 ¢ A532 ¢ T9732 + KQsé 2NS6 240 5.0 1
&« KQT & 8632 & JT & 52 655-1 50 1.0 1
®eveN LAT864 ®+veN L AKQ63
N ~~~3~ @3 N 6~~66 «T9
S ~~~3~ ¢K974 S 5~~52 ¢AM
E 224~~ aAJ7 E ~~~~~ &K64
W 224-~~ W ~~~~~
#17 a75 3NS4 430 Mean: 3NS4 430 70 1 ||#18 & Q975 4S5S4 620 Mean: 5SS5 650 7.0 1
v QT98 2NN3 150 150  3NN4 430 70 1 v KQJ82 4SS4 620 370 4SS5 650 7.0 2
+ QJ5 Dif: 280 NS:7  3NN3 400 60 3 . Dif: 0 NS:6 4SS4 620 6.0 5
» Q976 IMP: 7 EW:0 3DE-3 150 0.0 1 & AJ95 IMP: 0 EW:-6 2HXW-2 300 -20 1
» AQ2 » J93 2NN3 150 0.0 1 ||a K3 4 AT8 2DXW-1 100 7.0 1
v AJ53 v 642 2sS2 110 1.0 1 ||v T9753 v 64 2DXE-1 100 70 1
¢ 87432 + KT9 2NN2 120 1.0 1 []|e Q943 + K852 4881 100 -100 3
& & T432 3SS-1 -50 50 1 ||e Q4 & KT62
®IVON L, KT864 3NN-1 50 50 3 P¢VEN 4 J642
N 4~~32 K7 3NS-4 200 80 1[N 2~~32 ¢A
S 4~~42 ¢A6 S 2~~32 ¢ AJT76
E ~~~~~ aAKJ8 E ~1~~~ &873
W ~~~~~ W ~1~~~
#19 » 94 3DN4 130 Mean: 3NS4 430 70 1 [|# 20 » KJ43 3NS3 600 Mean: 5DS5 600 70 1
v9 3NS4430 120 3SE-2 200 20 1 v K63 2SN2 110 300  3NS3 600 7.0 6
+ K97532 Dif: -300 NS:0 2NS4 180 20 1 ¢ JT652 Dif: 490 NS:7 2HE-2 200 3.0 1
» QJ74 IMP: -7 EW:-7 3DS5 150 1.0 2 a A IMP: 10 EW:5 4DN5 150 40 1
» KJ65 # QT873 3DN5 150 1.0 1 ||s A65 » QT87 2SN2 10 50 1
v KQT7 v 8542 3DS4 130 00 3 ||v AJT2 + v Q985 5DN-1 100 9.0 3
+ Q84 T 3DN4 130 00 2 (|e 83 *4 3NN-1 100 9.0 1
& T9 & A53 3SE-1 100 1.0 1 ||s Q865 & J732
PEVEN LA2 3NS-1 50 50 1 POIVEN 4,92
N 55~ ~2 ¢AJ63 3NS-4 -200 -80 1 N ~5~~3 74
S 55~~2 ¢AJ6 S ~5~~3 ¢ AKQ97
E ~~11~ aK862 E ~~1~~ a&KT9%4
W ~~11~ W1~1~+~




G- < 2
8 114 ¥ Z 2ABERE Bl = RS 8
L v L
Vo axq
#1: 13 ZZ{B(121.1) #2: 3 Oceans(103.05) #3: 1 BEFX(103.03)
4 NS: P70 #RfgZGHO) 15 1 3 NS: &85 Bt A((BAC) 16 VP:| 8.15 11.85| Total VP: 61.18 Rank:
EW: J/51F EEHHEAC) -16 EW: RiE5% BEE(FHO) 1 IMP:| 13 18 13
_ _
# 11 a 52 4HW4 -420 Mean: 3CXS3 470 130 1 ||# 12 » 962 3NE3 -400 Mean: 3NE-2 100 80 1
v T4 4HW4 -420 -330  4CN-3 150 50 1 v QT84 3NE3 -400 -240  4NW-1 50 70 1
¢ T53 Dif: 0 NS:-3 3HW3 140 50 1 + Q9653 Dif: 0 NS:-4 3NE-1 50 7.0 3
» AQJ832 IMP: 0 EW:3 3HW4 170 40 1 a3 IMP: 0 EW:4 3NE3 400 40 7
KQ7 » T963 4HW5 450 30 2 ||a KT5 » AQ4 3NE4 430 50 2
v AK8762 v J53 4HW4 -420 -3.0 7 [|v J953 I v K7
* 72 + KQJ9s 5CXN-4  -800 -10.0 1 ||e K8 ¢ J74
& 65 s K & K987 & AQJTS
*eveN LA ®eveN L, J373
N 3~~~1¢Q9 N ~~~~~ ¢ A62
S 3~~~1 ¢A64 S ~~~~~ o4 AT2
E ~342~ aT974 E 4~~~3 a642
W ~342~ Wi4~~~3
#13 » AQ7 2NS2 120 Mean: 2NS3 150 40 1 ||# 14 & AK 4SW-1 50 Mean: 3NW-2 100 30 2
v Q942 2NS2120 o0 2NS2 120 30 4 v JT53 3NW-2100 © 3NE-2 100 30 1
¢ 9832 Dif: 0 NS:3 1NS2 1200 30 1 ¢ T65 Dif: -50 NS:2 5DE-1 50 20 1
»92 IMP: 0 EW:-3 1NS1 20 3.0 2 » 8642 IMP: -2 EW:-3 4SW-1 50 20 6
s J54 N » T632 2NS-1 100 -3.0 4 ||s Q987543 sJ 3NW-1 50 20 1
v J65 v ATS 3NS-2 200 50 1 ||v AKS8 v 97 3sW3 140 -40 1
+ KQ74 + +6 S22 200 50 1 ||e Ja + AK9873 sW4 70 50 1
& KT6 & QJ543 & Q & KJT7 4SW4 -420 9.0 1
®eveN LKOS ®eveN ,T62
N ~22~1 ¢K73 N ~~~~~ ¢ Q642
S ~22~1 ¢AJTS S ~~~~~ Q2
E 1~n~~~ aAS87 E ~4~41 aA93
W1~~~~ W ~4~41
# 15 » KJ532 4SS4 620 Mean: 4SXS4 790 130 1 ||# 16 » JT74 4SS5 450 Mean: 6SN7 1010 110 1
v T94 4SS4 620 10  4Ss4 620 120 4 v K5 4SS7 510 450  4SS7 510 20 2
+ Q6 Dif: 0 NS:12 5HW-1 50 10 1 *5 Dif: -60 NS:0 4SN7 510 20 1
» 954 IMP: 0 EW:-12 5SXS-1 200 -50 1 » AQ9873 IMP: -2 EW:-2 4SN6 480 10 2
s Q9 a7 4HW4 420 -10.0 5 || 98 s 52 4sS5 450 0.0 5
v AQ762 v KJ85 4HE4 420 100 2 || J832 —_ v AQ764 5CN6 420 1.0 1
¢ JT8 ¢ A532 ¢ T9732 + KQsé 2NS6 240 5.0 1
&« KQT & 8632 & JT & 52 655-1 50 1.0 1
®eveN LAT864 ®+veN L AKQ63
N ~~~3~ @3 N 6~~66 «T9
S ~~~3~ ¢K974 S 5~~52 ¢AM
E 224~~ aAJ7 E ~~~~~ &K64
W 224-~~ W ~~~~~
#17 a75 3DE-3150 Mean: 3NS4 430 70 1 ||#18 & Q975 2HXW-2 300 Mean: 5SS5 650 7.0 1
v QT98 3NN3 400 150  3NN4 430 70 1 v KQJ82 4SS5 650 370 4SS5 650 7.0 2
+ QJ5 Dif: 250 NS:0 3NN3 400 60 3 . Dif: -350 NS:-2 4SS4 620 6.0 5
» Q976 IMP: -6 EW:-6 3DE-3 150 0.0 1 & AJ95 IMP: -8 EW:7 2HXW-2 300 -2.0 1
» AQ2 » J93 2NN3 150 0.0 1 ||a K3 # ATS 2DXW-1 100 7.0 1
v AJ53 v 642 2sS2 110 1.0 1 ||v T9753 v 64 2DXE-1 100 70 1
¢ 87432 + KT9 2NN2 120 1.0 1 |]|e Q943 + K852 4881 100 -100 3
& & T432 3SS-1 -50 50 1 ||e Q4 & KT62
®IVON L, KT864 3NN-1 50 50 3 P¢VEN 4 J642
N 4~~32 K7 3NS-4 200 80 1[N 2~~32 ¢A
S 4~~42 ¢A6 S 2~~32 ¢ AJT76
E ~~~~~ aAKJ8 E ~1~~~ &873
W ~~~~~ W~1~~+~
#19 » 94 3DS4 130 Mean: 3NS4 430 70 1 [|# 20 » KJ43 3NS3 600 Mean: 5DS5 600 70 1
v9 3SE-1100 120  3SE-2 200 20 1 v K63 5DN-1-100 300 3NS3 600 7.0 6
+ K97532 Dif: 30 NS:0 2NS4 180 20 1 ¢ JT652 Dif: 700 NS:7 2HE-2 200 3.0 1
» QJ74 IMP: 1 EW:1 3DS5 150 1.0 2 a A IMP: 12 EW:9 4DN5 150 40 1
» KJ65 # QT873 3DN5 150 1.0 1 ||s A65 » QT87 2SN2 10 50 1
v KQT7 v 8542 3DS4 130 00 3 ||v AJT2 + v Q985 5DN-1 100 9.0 3
+ Q84 T 3DN4 130 00 2 ||e 83 *4 3NN-1 100 9.0 1
& T9 & A53 3SE-1 100 1.0 1 ||s Q865 & J732
PEVEN LA2 3NS-1 50 50 1 POIVEN 4,92
N 55~ ~2 ¢AJ63 3NS-4 -200 -80 1 N ~5~~3 74
S 55~~2 ¢AJ6 S ~5~~3 ¢ AKQ97
E ~~11~ aK862 E ~~1~~ a&KT9%4
W ~~11~ W1~1~+~




e V3 % jrir- “ _ 8 8
8 114 F 2FApERE le =R
L v L
Vo axq
#1: 13 ZZ{B(121.1) #2: 3 Oceans(103.05) #3: 1 BEFX(103.03)
5 NS: FEIER BESFREAC) 1 3 NS: 8% g (B0o) 9 VP:| 8.15 11.85| Total VP: 75.70 Rank:
EW: S5 BER(BH0) -9 EW: 81818 EBR(FAC) 1 IMP:| 19 24 8
_ __ -
# 11 a 52 4HW5 450 Mean: 3CXS3 470 130 1 ||# 12 » 962 3NE3 400 Mean: 3NE-2 100 80 1
v T4 4HW4 420 -330  4CN-3 150 50 1 v QT84 3NE-1-50 -240 4NW-1 50 70 1
¢ T53 Dif: 30 NS:-3 3HW3 140 50 1 ¢ Q9653 Dif: 450 NS:7 3NE-1 50 7.0 3
» AQJ832 IMP: 1 EW:3 3HW4 170 40 1 a3 IMP: 10 EW:4 3NE3 400 40 7
KQ7 » T963 4HW5 450 30 2 ||a KT5 » AQ4 3NE4 430 50 2
v AK8762 v J53 4HW4 -420 -3.0 7 ||e J953 I v K7
* 72 + KQJ9s 5CXN-4  -800 -10.0 1 ||e K8 ¢ J74
& 65 s K & K987 & AQJTS
*eveN LA ®eveN L, J373
N 3~~~1¢Q9 N ~~~~~ ¢ A62
S 3~~~1 ¢A64 S ~~~~~ o4 AT2
E ~342~ aT974 E 4~~~3 a642
W ~342~ Wi4~~~3
#13 » AQ7 2NS3 -150 Mean: 2NS3 150 40 1 ||# 14 & AK 5DE-1-50 Mean: 3NW-2 100 30 2
v Q942 2NS2-120 0 2NS2 120 30 4 v JT53 3SW4170 o 3NE-2 100 30 1
¢ 9832 Dif: -30 NS:3 1NS2 1200 30 1 ¢ T65 Dif: -220 NS:-5 5DE-1 50 20 1
»92 IMP: -1 EW:-4 1NS1 20 3.0 2 » 8642 IMP: -6 EW:-2 4SW-1 50 20 6
s J54 N » T632 2NS-1 100 -3.0 4 ||s Q987543 sJ 3NW-1 50 20 1
v J65 v AT8 3NS-2 200 50 1 ||v AKS8 v 97 3sW3 140 -40 1
+ KQ74 + +6 S22 200 50 1 ||e Ja + AK9873 sW4 70 50 1
& KT6 & QJ543 & Q & KJT7 4SW4 -420 9.0 1
®eveN LKOS ®eveN ,T62
N ~22~1 ¢K73 N ~~~~~ ¢ Q642
S ~22~1 ¢AJTS S ~~~~~ Q2
E 1~n~~~ aAS87 E ~4~41 aA93
W1~~~~ W ~4~41
# 15 » KJ532 4HW4 420 Mean: 4SXS4 790 130 1 ||# 16 » JT74 4SS5 -450 Mean: 6SN7 1010 110 1
v T94 4HE4 420 10  4SS4 620 120 4 v K5 4SN6 -480 450  4SS7 510 20 2
+ Q6 Dif: 0 NS:-10 5HW-1 50 10 1 *5 Dif: 30 NS:1 4SN7 510 20 1
» 954 IMP: 0 EW:10 5SXS-1 200 -50 1 » AQ9873 IMP: 1 EW:0 4SN6 480 10 2
s Q9 a7 4HW4 420 -10.0 5 || 98 s 52 4sS5 450 0.0 5
v AQ762 v KJ85 4HE4 420 100 2 || J832 —_ v AQ764 5CN6 420 1.0 1
¢ JT8 ¢ A532 ¢ T9732 + KQsé 2NS6 240 5.0 1
&« KQT & 8632 & JT & 52 655-1 50 1.0 1
®eveN LAT864 ®+veN L AKQ63
N ~~~3~ @3 N 6~~66 «T9
S ~~~3~ ¢K974 S 5~~52 ¢AM
E 224~~ aAJ7 E ~~~~~ &K64
W 224-~~ W ~~~~~
#17 a75 3NS4 -430 Mean: 3NS4 430 70 1 ||#18 & Q975 4SS4 -620 Mean: 5SS5 650 7.0 1
v QT98 2NN3 -150 150  3NN4 430 70 1 v KQJ82 4SS4 -620 370 4SS5 650 7.0 2
+ QJ5 Dif: -280 NS:0 3NN3 400 60 3 . Dif: 0 NS:6 4SS4 620 6.0 5
» Q976 IMP: -7 EW:-7 3DE-3 150 0.0 1 & AJ95 IMP: 0 EW:-6 2HXW-2 300 -20 1
» AQ2 » J93 2NN3 150 0.0 1 ||a K3 4 AT8 2DXW-1 100 7.0 1
v AJ53 v 642 2sS2 110 1.0 1 ||v T9753 v 64 2DXE-1 100 70 1
¢ 87432 ¢ KT9 2NN2 120 1.0 1 |]|e Q943 + K852 4881 100 -100 3
& & T432 3SS-1 -50 5.0 1||s Q4 & KT62
®IVON L, KT864 3NN-1 50 50 3 P¢VEN 4 J642
N 4~~32 K7 3NS-4 200 80 1[N 2~~32 ¢A
S 4~~42 ¢A6 S 2~~32 ¢ AJT76
E ~~~~~ aAKJ8 E ~1~~~ &873
W ~~~~~ W ~1~~~
#19 » 94 3DN4 -130 Mean: 3NS4 430 70 1 [|# 20 » KJ43 3NS3 -600 Mean: 5DS5 600 70 1
v9 3NS4 -430 120 3SE-2 200 20 1 v K63 2SN2 -110 300 3NS3 600 7.0 6
+ K97532 Dif: 300 NS:7 2NS4 180 20 1 ¢ JT652 Dif: -490 NS:-5 2HE-2 200 3.0 1
» QJ74 IMP: 7 EW:0 3DS5 150 1.0 2 a A IMP: -10 EW:-7 4DN5 150 40 1
# KJ65 # QT873 3DN5 150 1.0 1 ||s A65 » QT87 2SN2 10 50 1
v KQT7 v 8542 3DS4 130 00 3 ||v AJT2 + v Q985 5DN-1 100 9.0 3
+ Q84 T 3DN4 130 00 2 (|e 83 *4 3NN-1 100 9.0 1
& T9 & A53 3SE-1 100 1.0 1 ||s Q865 & J732
PEVEN LA2 3NS-1 50 50 1 POIVEN 4,92
N 55~ ~2 ¢AJ63 3NS-4 -200 -80 1 N ~5~~3 74
S 55~~2 ¢AJ6 S ~5~~3 ¢ AKQ97
E ~~11~ aK862 E ~~1~~ a&KT9%4
W ~~11~ W1~1~+~




G- < 2
8 114 ¥ Z 2ABERE Bl = RS 8
L v L
Vo axq
#1: 13 ZZ{B(121.1) #2: 3 Oceans(103.05) #3: 1 BEFX(103.03)
6 NS: #9881 BEZZ(BHO) -49 14 NS: FREE) 15 REE(BAC) -1 VP:| 0.56 19.44| Total VP: 79.16 Rank:
EW: £&¥ % #E5EIC) 1 EW: R{Z8B ERHE£(FI0) 49 IMP:| 11 53 6
_ __
# 11 a 52 4HW4 -420 Mean: 3CXS3 470 130 1 ||# 12 » 962 3NE-2100 Mean: 3NE-2 100 80 1
v T4 3HW4 -170 -330  4CN-3 150 50 1 v QT84 3NE4 -430 -240  4NW-1 50 70 1
¢ T53 Dif: -250 NS:-3 3HW3 140 50 1 ¢ Q9653 Dif: 530 NS:8 3NE-1 50 7.0 3
» AQJ832 IMP: -6 EW:-4 3HWA4 170 40 1 a3 IMP: 11 EW:5 3NE3 400 40 7
KQ7 » T963 4HW5 450 30 2 ||a KT5 » AQ4 3NE4 430 50 2
v AK8762 v J53 4HW4 -420 -3.0 7 ||e J953 I v K7
* 72 + KQJ9s 5CXN-4  -800 -10.0 1 ||e K8 ¢ J74
& 65 s K & K987 & AQJTS
*eveN LA ®eveN L J873
N 3~~~1¢Q9 N ~~~~~ ¢ A62
S 3~~~1 ¢A64 S ~~~~~ o4 AT2
E ~342~ aT974 E 4~~~3 a642
W ~342~ Wi4~~~3
#13 » AQ7 2NS-1-100 Mean: 2NS3 150 40 1 ||# 14 & AK 4SW-1 50 Mean: 3NW-2 100 30 2
v Q942 1NS2120 o 2NS2 120 30 4 v JT53 3NE-2100 0 3NE-2 100 30 1
¢ 9832 Dif: -220 NsS:-3 1NS2 1200 30 1 ¢ T65 Dif: -50 NS:2 5DE-1 50 20 1
»92 IMP: -6 EW:-3 1NS1 20 3.0 2 » 8642 IMP: -2 EW:-3 4SW-1 50 20 6
s J54 N » T632 2NS-1 100 -3.0 4 ||s Q987543 sJ 3NW-1 50 20 1
v J65 v AT8 3NS-2 200 50 1 ||v AKS8 v 97 3SW3 140 -40 1
+ KQ74 + +6 S22 200 50 1 ||e Ja + AK9873 sW4 70 50 1
& KT6 & QJ543 & Q & KJT7 4SW4 -420 9.0 1
®eveN LKOS ®eveN ,T62
N ~22~1 ¢K73 N ~~~~~ ¢ Q642
S ~22~1 ¢AJTS S ~~~~~ Q2
E 1~n~~~ aAS87 E ~4~41 aA93
W1~~~~ W ~4~41
# 15 » KJ532 4HW4 -420 Mean: 4SXS4 790 130 1 ||# 16 » JT74 6SS-1-50 Mean: 6SN7 1010 11.0 1
v T94 4HW4 -420 10  4Ss4 620 120 4 v K5 4SN6 480 450  4SS7 510 20 2
+ Q6 Dif: 0 NS:-10 5HW-1 50 10 1 *5 Dif: -530 NS:-11 4SN7 510 20 1
» 954 IMP: 0 EW:10 5SXS-1 200 -50 1 » AQ9873 IMP: -11 EW:-1 4SN6 480 10 2
s Q9 a7 4HW4 420 -10.0 5 || 98 s 52 4SS5 450 0.0 5
v AQ762 v KJ85 4HE4 420 100 2 || J832 —_ v AQ764 5CN6 420 1.0 1
¢ JT8 ¢ A532 ¢ T9732 + KQsé 2NS6 240 5.0 1
&« KQT & 8632 & JT & 52 655-1 50 1.0 1
®eveN LAT864 ®+veN L AKQ63
N ~~~3~ @3 N 6~~66 «T9
S ~~~3~ ¢K974 S 5~~52 ¢AM
E 224~~ aAJ7 E ~~~~~ &K64
W 224-~~ W ~~~~~
#17 a75 3NN-1-50 Mean: 3NS4 430 70 1 ||#18 & Q975 4SS-1 -100 Mean: 5SS5 650 7.0 1
v QT98 3NN-1-50 150  3NN4 430 70 1 v KQJ82 4SS4 620 370 4SS5 650 7.0 2
+ QJ5 Dif: 0 NS:-5 3NN3 400 60 3 . Dif: -720 NS:-10 4SS4 620 6.0 5
» Q976 IMP: 0 EW:5 3DE-3 150 0.0 1 & AJ95 IMP: -12 EW:-6 2HXW-2 300 -2.0 1
» AQ2 » J93 2NN3 150 0.0 1 ||a K3 4 AT8 2DXW-1 100 7.0 1
v AJ53 v 642 2ss2 110 1.0 1 ||v T9753 v 64 2DXE-1 100 70 1
¢ 87432 ¢ KT9 2NN2 120 1.0 1 []|e Q943 « K852 48S-1 100 -100 3
& & T432 3SS-1 -50 5.0 1||s Q4 & KT62
®IVON L, KT864 3NN-1 50 50 3 P¢VEN 4 J642
N 4~~32 K7 3NS-4 200 80 1[N 2~~32 ¢A
S 4~~42 ¢A6 S 2~~32 ¢ AJT76
E ~~~~~ aAKJ8 E ~1~~~ &873
W ~~~~~ W~1~~+~
#19 » 94 3NS-4 -200 Mean: 3NS4 430 70 1 [|# 20 » KJ43 5DN-1-100 Mean: 5DS5 600 70 1
v9 3NS-1-50 120  3SE-2 200 20 1 v K63 3NS3 600 300 3NS3 600 7.0 6
« K97532 Dif: -150 NS:-8 2NS4 180 20 1 ¢ JT652 Dif: -700 NS:-9 2HE-2 200 -3.0 1
» QJ74 IMP: -4 EW:5 3DS5 150 1.0 2 a A IMP: -12 EW:-7 4DN5 150 40 1
# KJ65 # QT873 3DN5 150 1.0 1 ||s A65 » QT87 2SN2 10 50 1
v KQT7 v 8542 3DS4 130 00 3 ||v AJT2 _I_ v Q985 5DN-1 100 9.0 3
+ Q84 T 3DN4 130 00 2 (|e 83 ¢4 3NN-1 100 9.0 1
& T9 & A53 3SE-1 100 1.0 1 ||s Q865 & J732
PEVEN LA2 3NS-1 50 50 1 POIVEN 4,92
N 55~ ~2 ¢AJ63 3NS-4 -200 -80 1 N ~5~~3 74
S 55~~2 ¢AJ6 S ~5~~3 ¢ AKQ97
E ~~11~ aK862 E ~~1~~ a&KT9%4
W ~~11~ W1~1~+~




G- < 2
8 114 ¥ Z 2ABERE Bl = RS 8
L v L
Vo axq
#1: 13 ZZ{B(121.1) #2: 3 Oceans(103.05) #3: 1 BEFX(103.03)
7 NS: BATE BHER=GHO) 24 1 2 NS: RE% BER(BC) -1 VP:| 17.68 : 2.32 | Total VP: 80.86 Rank:
EW: EiEHE S=iiEEIC) 13 EW: W3R 2% (FHO) -2 IMP:| 48 19 5
_ _
# 11 a 52 4HW4 -420 Mean: 3CXS3 470 130 1 ||# 12 » 962 3NE3 -400 Mean: 3NE-2 100 80 1
v T4 4HW4 -420 -330  4CN-3 150 50 1 v QT84 3NE-150 -240  4NW-1 50 70 1
¢ T53 Dif: 0 NS:-3 3HW3 140 50 1 ¢ Q9653 Dif: -450 NS:-4 3NE-1 50 7.0 3
» AQJ832 IMP: 0 EW:3 3HW4 170 40 1 a3 IMP: -10 EW:-7 3NE3 400 40 7
KQ7 » T963 4HW5 450 30 2 ||a KT5 » AQ4 3NE4 430 50 2
v AK8762 v J53 4HW4 -420 -3.0 7 [|v J953 I v K7
* 72 + KQJ9s 5CXN-4  -800 -10.0 1 ||e K8 ¢ J74
& 65 s K & K987 & AQJTS
*eveN LA ®eveN L, J373
N 3~~~1¢Q9 N ~~~~~ ¢ A62
S 3~~~1 ¢A64 S ~~~~~ o4 AT2
E ~342~ aT974 E 4~~~3 a642
W ~342~ Wi4~~~3
#13 » AQ7 INS1 90 Mean: 2NS3 150 40 1 ||# 14 & AK 4SW-1 50 Mean: 3NW-2 100 30 2
v Q942 3NS-2-200 © 2NS2 120 30 4 v JT53 3SW3-140 0 3NE-2 100 30 1
¢ 9832 Dif: 290 NS:3  1NS2 1200 30 1 ¢ T65 Dif: 190 NS:2 5DE-1 50 20 1
»92 IMP: 7 EW:5 1NS1 20 3.0 2 » 8642 IMP: 5 EW:4 4SW-1 50 20 6
s J54 N » T632 2NS-1 100 -3.0 4 ||s Q987543 sJ 3NW-1 50 20 1
v J65 v AT8 3NS-2 200 50 1 ||v AKS8 v 97 3sW3 140 -40 1
+ KQ74 + +6 S22 200 50 1 ||e Ja + AK9873 sW4 70 50 1
& KT6 & QJ543 & Q & KJT7 4SW4 -420 9.0 1
®eveN LKOS ®eveN ,T62
N ~22~1 ¢K73 N ~~~~~ ¢ Q642
S ~22~1 ¢AJTS S ~~~~~ Q2
E 1~n~~~ aAS87 E ~4~41 aA93
W1~~~~ W ~4~41
# 15 » KJ532 5HW-1 50 Mean: 4SXS4 790 130 1 ||# 16 » JT74 6SN7 1010 Mean: 6SN7 1010 110 1
v T94 4HW4 -420 10  4Ss4 620 120 4 v K5 2NS6 240 450  4SS7 510 20 2
+ Q6 Dif: 470 NS:1  5HW-1 50 10 1 *5 Dif: 770 NS:11 4SN7 510 20 1
» 954 IMP: 10 EW:10 5SXS-1 200 -50 1 » AQ9873 IMP: 13 EW:5 4SN6 480 10 2
s Q9 a7 4HW4 420 -10.0 5 || 98 s 52 4sS5 450 0.0 5
v AQ762 v KJ85 4HE4 420 100 2 || J832 —_ v AQ764 5CN6 420 1.0 1
¢ JT8 ¢ A532 ¢ T9732 + KQsé 2NS6 240 5.0 1
&« KQT & 8632 & JT & 52 655-1 50 1.0 1
®eveN LAT864 ®+veN L AKQ63
N ~~~3~ @3 N 6~~66 «T9
S ~~~3~ ¢K974 S 5~~52 ¢AM
E 224~~ aAJ7 E ~~~~~ &K64
W 224-~~ W ~~~~~
#17 a75 2SS2 110 Mean: 3NS4 430 70 1 ||#18 » Q975 4SS4 620 Mean: 5SS5 650 7.0 1
v QT98 3NN4 430 150  3NN4 430 70 1 v KQJ82 5585650 370 4SS5 650 7.0 2
+ QJ5 Dif: -320 NS:-1  3NN3 400 60 3 . Dif: -30 NS:6 4SS4 620 6.0 5
» Q976 IMP: -8 EW:-7 3DE-3 150 0.0 1 & AJ95 IMP: -1 EW:7 2HXW-2 300 -2.0 1
» AQ2 » J93 2NN3 150 0.0 1 ||a K3 4 AT8 2DXW-1 100 7.0 1
v AJ53 v 642 2sS2 110 1.0 1 ||v T9753 v 64 2DXE-1 100 70 1
¢ 87432 + KT9 2NN2 120 1.0 1 []|e Q943 + K852 4881 100 -100 3
& & T432 3SS-1 -50 50 1 ||e Q4 & KT62
®IVON L, KT864 3NN-1 50 50 3 P¢VEN 4 J642
N 4~~32 K7 3NS-4 200 80 1[N 2~~32 ¢A
S 4~~42 ¢A6 S 2~~32 ¢ AJT76
E ~~~~~ aAKJ8 E ~1~~~ &873
W ~~~~~ W~1~~+~
#19 » 94 3SE-2 200 Mean: 3NS4 430 70 1 [|# 20 » KJ43 5DS5 600 Mean: 5DS5 600 70 1
v9 2NS4 180 120  3SE-2 200 20 1 v K63 5DN-1-100 300  3NS3 600 7.0 6
+ K97532 Dif: 20 NS:2 2NSs4 180 20 1 ¢ JT652 Dif: 700 NS:7 2HE-2 200 3.0 1
» QJ74 IMP: 1 EW:-2 3DS5 150 1.0 2 a A IMP: 12 EW:9 4DN5 150 40 1
» KJ65 # QT873 3DN5 150 1.0 1 ||s A65 » QT87 2SN2 10 50 1
v KQT7 v 8542 3DS4 130 00 3 ||v AJT2 + v Q985 5DN-1 100 9.0 3
+ Q84 T 3DN4 130 00 2 ||e 83 *4 3NN-1 100 9.0 1
& T9 & A53 3SE-1 100 1.0 1 ||s Q865 & J732
PEVEN LA2 3NS-1 50 50 1 POIVEN 4,92
N 55~ ~2 ¢AJ63 3NS-4 -200 -80 1 N ~5~~3 74
S 55~~2 ¢AJ6 S ~5~~3 ¢ AKQ97
E ~~11~ aK862 E ~~1~~ a&KT9%4
W ~~11~ W1~1~+~




G- < 2
8 114 ¥ Z 2ABERE Bl = RS 8
L v L
Vo axq
#1: 13 ZZ{B(121.1) #2: 3 Oceans(103.05) #3: 1 BEFX(103.03)
8 NS: P85 {52 Eh(HO) 15 10 NS: % E# sRE#(BAC) 17 VP:| 8.86 11.14| Total VP: 71.65 Rank:
EW: #B27F HEEEIC) -17 EW: BRiEF5 | E(FO0) 1 IMP:| 24 27 10
_ -
# 11 a 52 5CXN-4 -800 Mean: 3CXS3 470 130 1 ||# 12 » 962 3NE-150 Mean: 3NE-2 100 80 1
v T4 3CXS3470 -330 4CN-3 150 50 1 v QT84 4NW-150 -240 4NW-1 50 70 1
¢ T53 Dif: 1270 NS:-10 3HW3 140 50 1 + Q9653 Dif: 0 NS:7 3NE-1 50 7.0 3
» AQJ832 IMP: -15 EW:-13 3HW4 170 40 1 a3 IMP: 0 EW:-7 3NE3 400 40 7
KQ7 » T963 4HW5 450 30 2 ||a KT5 » AQ4 3NE4 430 50 2
v AK8762 v J53 4HW4 -420 -3.0 7 [|v J953 I v K7
* 72 + KQJ9s 5CXN-4  -800 -10.0 1 ||e K8 ¢ J74
& 65 s K & K987 & AQJTS
*eveN LA ®eveN L, J373
N 3~~~1¢Q9 N ~~~~~ ¢ A62
S 3~~~1 ¢A64 S ~~~~~ o4 AT2
E ~342~ aT974 E 4~~~3 a642
W ~342~ Wi4~~~3
# 13 » AQ7 2NS2 120 Mean: 2NS3 150 40 1 # 14 & AK 3NW-2 100 Mean: 3NW-2 100 30 2
v Q942 2NS-1-100 o0 2NS2 120 30 4 v JT53 4SW-150 0 3NE-2 100 30 1
¢ 9832 Dif: 220 NS:3  1NS2 1200 30 1 ¢ T65 Dif: 50 NS:3 5DE-1 50 20 1
»92 IMP: 6 EW:3 1NS1 20 3.0 2 » 8642 IMP: 2 EW:-2 4SW-1 50 20 6
s J54 N » T632 2NS-1 100 -3.0 4 ||s Q987543 sJ 3NW-1 50 20 1
v J65 v ATS 3NS-2 200 50 1 ||v AKS8 v 97 3sW3 140 -40 1
+ KQ74 + +6 S22 200 50 1 ||e Ja + AK9873 sW4 70 50 1
& KT6 & QJ543 & Q & KJT7 4SW4 -420 9.0 1
®eveN LKOS ®eveN ,T62
N ~22~1 ¢K73 N ~~~~~ ¢ Q642
S ~22~1 ¢AJTS S ~~~~~ Q2
E 1~n~~~ aAS87 E ~4~41 aA93
W1~~~~ W ~4~41
# 15 » KJ532 4SXS4 790 Mean: 4SXS4 790 130 1 ||# 16 » JT74 4SN7 510 Mean: 6SN7 1010 110 1
v T94 4HW4 -420 10  4Ss4 620 120 4 v K5 4SS7 510 450  4SS7 510 20 2
+ Q6 Dif: 1210 NS:13 5HW-1 50 10 1 *5 Dif: 0 NS:2 4SN7 510 20 1
» 954 IMP: 15 EW:10 5SXS-1 200 -50 1 » AQ9873 IMP: 0 EW:-2 4SN6 480 10 2
s Q9 a7 4HW4 420 -10.0 5 || 98 s 52 4sS5 450 0.0 5
v AQ762 v KJ85 4HE4 420 100 2 || J832 —_ v AQ764 5CN6 420 1.0 1
¢ JT8 ¢ A532 ¢ T9732 + KQsé 2NS6 240 5.0 1
&« KQT & 8632 & JT & 52 655-1 50 1.0 1
®eveN LAT864 ®¢veN ,AKQ63
N ~~~3~ @3 N 6~~66 «T9
S ~~~3~ ¢K974 S 5~~52 ¢AM
E 224~~ aAJ7 E ~~~~~ &K64
W 224-~~ W ~~~~~
#17 a75 2NN2 120 Mean: 3NS4 430 70 1 ||#18 » Q975 4SS-1 100 Mean: 5SS5 650 7.0 1
v QT98 3NN3 400 150  3NN4 430 70 1 v KQJ82 2DXE-1100 370 4SS5 650 7.0 2
+ QJ5 Dif: -280 NS:-1  3NN3 400 60 3 . Dif: -200 NS:-10 4SS4 620 6.0 5
» Q976 IMP: -7 EW:-6 3DE-3 150 0.0 1 & AJ95 IMP: -5 EW:7 2HXW-2 300 -2.0 1
» AQ2 » J93 2NN3 150 0.0 1 ||a K3 # ATS 2DXW-1 100 7.0 1
v AJ53 v 642 2sS2 110 1.0 1 ||v T9753 v 64 2DXE-1 100 70 1
¢ 87432 + KT9 2NN2 1200 1.0 1 |]|e Q943 + K852 4881 100 -100 3
& & T432 3SS-1 -50 50 1 ||e Q4 & KT62
®IVON L, KT864 3NN-1 50 50 3 P¢VEN 4 J642
N 4~~32 K7 3NS-4 200 80 1[N 2~~32 ¢A
S 4~~42 ¢A6 S 2~~32 ¢ AJT76
E ~~~~~ aAKJ8 E ~1~~~ &873
W ~~~~~ W~1~~+~
#19 » 94 3DS5150 Mean: 3NS4 430 70 1 [|# 20 » KJ43 3NS3 600 Mean: 5DS5 600 70 1
v9 3DS4130 120 3SE-2 200 20 1 v K63 3NS3 600 300 3NS3 600 7.0 6
+ K97532 Dif: 20 NS:1  2NS4 180 20 1 ¢ JT652 Dif: 0 NS:7 2HE-2 200 3.0 1
» QJ74 IMP: 1 EW:0 3DS5 150 1.0 2 a A IMP: 0 EW:-7 4DN5 150 40 1
» KJ65 # QT873 3DN5 150 1.0 1 ||s A65 » QT87 2SN2 10 50 1
v KQT7 v 8542 3DS4 130 00 3 ||v AJT2 + v Q985 5DN-1 100 9.0 3
+ Q84 T 3DN4 130 00 2 ||e 83 *4 3NN-1 100 9.0 1
& T9 & A53 3SE-1 100 1.0 1 ||s Q865 & J732
PEVEN LA2 3NS-1 50 50 1 POIVEN 4,92
N 55~ ~2 ¢AJ63 3NS-4 -200 -80 1 N ~5~~3 74
S 55~~2 ¢AJ6 S ~5~~3 ¢ AKQ97
E ~~11~ aK862 E ~~1~~ a&KT9%4
W ~~11~ W1~1~+~




e V3 % jrir- “ _ 8 8
8 114 F 2FApERE le =R
L v L
Vo axq
#1: 13 ZZ{B(121.1) #2: 3 Oceans(103.05) #3: 1 BEFX(103.03)
9 NS: =9 SEFRIi&EAC) -37 1 NS: ¥5% HEiiE(FOo) -17 VP:| 4.25 15.75| Total VP: 66.07 Rank:
EW: SR80 BR=FABHO) 17 EW: &8 sRRER(BAC) 37 IMP:| 10 29 12
_ -
# 11 a 52 4HW4 420 Mean: 3CXS3 470 130 1 ||# 12 » 962 3NE3 400 Mean: 3NE-2 100 80 1
v T4 4CN-3 150 -330 4CN-3 150 50 1 v QT84 3NE3 400 -240  4NW-1 50 70 1
¢ T53 Dif: 270 NS:5 3HW3 140 50 1 ¢ Q9653 Dif: 0 NS:-4 3NE-1 50 7.0 3
» AQJ832 IMP: 7 EW:3 3HW4 170 40 1 a3 IMP: 0 EW:4 3NE3 400 40 7
KQ7 » T963 4HW5 450 30 2 ||a KT5 » AQ4 3NE4 430 50 2
v AK8762 v J53 4HW4 -420 -3.0 7 ||e J953 I v K7
* 72 + KQJ9s 5CXN-4  -800 -10.0 1 ||e K8 ¢ J74
& 65 s K & K987 & AQJTS
*eveN LA ®eveN L J873
N 3~~~1¢Q9 N ~~~~~ ¢ A62
S 3~~~1 ¢A64 S ~~~~~ o4 AT2
E ~342~ aT974 E 4~~~3 a642
W ~342~ Wi4~~~3
#13 » AQ7 2NS-2 200 Mean: 2NS3 150 40 1 ||# 14 & AK 4SW-1 -50 Mean: 3NW-2 100 30 2
v Q942 2NS-1100 0 2NS2 120 30 4 v JT53 3NW-1-50 0 3NE-2 100 30 1
¢ 9832 Dif: 100 NS:-3 1NS2 1200 30 1 ¢ T65 Dif: 0 NS:2 5DE-1 50 20 1
»92 IMP: 3 EW:5 1NS1 20 3.0 2 » 8642 IMP: 0 EW:-2 4SW-1 50 20 6
s J54 N » T632 2NS-1 100 -3.0 4 ||s Q987543 sJ 3NW-1 50 20 1
v J65 v AT8 3NS-2 200 50 1 ||v AKS8 v 97 3sW3 140 -40 1
+ KQ74 + +6 S22 200 50 1 ||e Ja + AK9873 sW4 70 50 1
& KT6 & QJ543 & Q & KJT7 4SW4 -420 9.0 1
®eveN LKOS ®eveN ,T62
N ~22~1 ¢K73 N ~~~~~ ¢ Q642
S ~22~1 ¢AJTS S ~~~~~ Q2
E 1~n~~~ aAS87 E ~4~41 aA93
Wi1~~~~ W ~4~41
# 15 » KJ532 5SXS-1200 Mean: 4SXS4 790 130 1 ||# 16 » JT74 4SS5 -450 Mean: 6SN7 1010 110 1
v T94 4HE4 420 10  4SS4 620 120 4 v K5 4SS5 -450 450  4SS7 510 20 2
+ Q6 Dif: -220 NS:-10 5HW-1 50 10 1 *5 Dif: 0 NS:0 4SN7 510 20 1
» 954 IMP: -6 EW:5 5SXS-1 200 -50 1 » AQ9873 IMP: 0 EW:0 4SN6 480 10 2
s Q9 a7 4HW4 420 -10.0 5 || 98 s 52 4sS5 450 0.0 5
v AQ762 v KJ85 4HE4 420 100 2 || J832 —_ v AQ764 5CN6 420 1.0 1
¢ JT8 ¢ A532 ¢ T9732 + KQsé 2NS6 240 5.0 1
& KQT & 8632 & JT & 52 6SS-1 50  -11.0 1
®eveN LAT864 ®+veN L AKQ63
N ~~~3~ @3 N 6~~66 «T9
S ~~~3~ ¢K974 S 5~~52 ¢AM
E 224~~ aAJ7 E ~~~~~ &K64
W 224-~~ W ~~~~~
#17 a75 3NN-150 Mean: 3NS4 430 70 1 ||#18 & Q975 4S5S4 -620 Mean: 5SS5 650 7.0 1
v QT98 3NS-4200 150  3NN4 430 70 1 v KQJ82 4SS-1100 370 4SS5 650 7.0 2
+ QJ5 Dif: -150 NS:-8 3NN3 400 60 3 . Dif: -720 NS:-10 4SS4 620 6.0 5
» Q976 IMP: -4 EW:5 3DE-3 150 0.0 1 & AJ95 IMP: -12 EW:-6 2HXW-2 300 -20 1
» AQ2 » J93 2NN3 150 0.0 1 ||a K3 4 AT8 2DXW-1 100 7.0 1
v AJ53 v 642 2sS2 110 1.0 1 ||v T9753 v 64 2DXE-1 100 70 1
¢ 87432 + KT9 2NN2 120 1.0 1 []|e Q943 « K852 4881 100 -100 3
& & T432 3SS-1 -50 50 1 ||e Q4 & KT62
®IVON L, KT864 3NN-1 50 50 3 P¢VEN 4 J642
N 4~~32 K7 3NS-4 200 80 1[N 2~~32 ¢A
S 4~~42 ¢A6 S 2~~32 ¢ AJT76
E ~~~~~ aAKJ8 E ~1~~~ &873
W ~~~~~ W ~1~~~
#19 » 94 3DS5-150 Mean: 3NS4 430 70 1 [|# 20 » KJ43 4DN5 -150 Mean: 5DS5 600 70 1
v9 3DN4 -130 120  3SE-2 200 20 1 v K63 3NN-1100 300  3NS3 600 7.0 6
+ K97532 Dif: 20 NS:0 2NS4 180 20 1 ¢ JT652 Dif: -250 NS:-9 2HE-2 200 3.0 1
» QJ74 IMP: -1 EW:-1 3DS5 150 1.0 2 a A IMP: -6 EW:4 4DN5 150 40 1
# KJ65 # QT873 3DN5 150 1.0 1 ||s A65 » QT87 2SN2 10 50 1
v KQT7 v 8542 3DS4 130 00 3 ||v AJT2 + v Q985 5DN-1 100 9.0 3
+ Q84 T 3DN4 130 00 2 (|e 83 *4 3NN-1 100 9.0 1
& T9 & A53 3SE-1 100 1.0 1 ||s Q865 & J732
PEVEN LA2 3NS-1 50 50 1 POIVEN 4,92
N 55~ ~2 ¢AJ63 3NS-4 -200 -80 1 N ~5~~3 74
S 55~~2 ¢AJ6 S ~5~~3 ¢ AKQ97
E ~~11~ aK862 E ~~1~~ a&KT9%4
W ~~11~ W1~1~+~




RSN '3 —~5 jrir- s _ 8 8
8 114 F 2FApERE le =R
L v L
Vo axq
#1: 13 ZZf8(121.1) #2: 3 Oceans(103.05) #3: 1 EEF.(103.03)
1 O NS: FABUHE SBEREAC) 17 8 NS: W53 AR EN(BO) 15 VP:[ 11.14 : 8.86 | Total VP: 53.59 Rank:
EW: B3 M85 (BF0) -15 EW: 15EF MEB(EAC) 1 IMP:| 27 24 14
_ __
# 11 a 52 5CXN-4 800 Mean: 3CXS3 470 130 1 ||# 12 » 962 3NE-1-50 Mean: 3NE-2 100 80 1
v T4 3CXS3-470 -330 4CN-3 150 50 1 v QT84 4NW-1-50 -240 4NW-1 50 70 1
¢ T53 Dif: 1270 NS:13 3HW3 140 50 1 + Q9653 Dif: 0 NS:7 3NE-1 50 7.0 3
» AQJ832 IMP: 15 EW:10 3HW4 170 40 1 a3 IMP: 0 EW:-7 3NE3 400 40 7
KQ7 » T963 4HW5 450 30 2 ||a KT5 » AQ4 3NE4 430 50 2
v AK8762 v J53 4HW4 -420 -3.0 7 [|v J953 I v K7
* 72 + KQJ9s 5CXN-4 800 -100 1 ||e K8 * J74
& 65 s K & K987 & AQJTS
*eveN LAJ8 ®eveN L, J373
N 3~~~1 Q9 N ~~~~~ ¢ AB2
S 3~~~1 ¢A64 S ~~~~~ o AT2
E ~342~ aT974 E 4~~~3 a642
W ~342~ Wi4~~~3
# 13 » AQ7 2NS2 -120 Mean: 2NS3 150 40 1 # 14 & AK 3NW-2 -100 Mean: 3NW-2 100 30 2
v Q942 2NS-1100 0 2NS2 120 30 4 v JT53 4SW-1-50 o0 3NE-2 100 30 1
¢ 9832 Dif: -220 NS:-3 1NS2 1200 30 1 ¢ T65 Dif: -50 NS:2 5DE-1 50 20 1
»92 IMP: -6 EW:-3 1NS1 90 30 2 » 8642 IMP: -2 EW:-3 4SW-1 50 20 6
s J54 N » T632 2NS-1 100 3.0 4 ||s Q987543 sJ 3NW-1 50 20 1
v J65 v ATS 3NS-2 200 50 1 ||v AK8 v 97 3sW3 140 -40 1
+ KQ74 + *6 S22 200 50 1 ||e Ja + AK9873 sW4 70 50 1
& KT6 & QJ543 & Q & KJT7 4SW4 -420 9.0 1
®eveN ,KI8 ®eveN ,T62
N ~22~1 ¢K73 N ~~~~~ ¢ Q642
S ~22~1 ¢AJTS S ~~~~~ Q2
E 1~~n~~ aA87 E ~4~41 aA953
Wi1l~~~-~ W ~4~41
#15 » KJ532 4SXS4 -790 Mean: 4SXS4 790 130 1 ||# 16 » JT74 4SN7 -510 Mean: 6SN7 1010 110 1
v T94 4HW4 420 10  4SS4 620 120 4 v K5 4SS7 -510 450  4SS7 510 20 2
+ Q6 Dif: -1210 NS:-10 5HW-1 50 10 1 *5 Dif: 0 NS:2 4SN7 510 20 1
» 954 IMP: -15 EW:-13 5SXS-1 200 -50 1 » AQ9873 IMP: 0 EW:-2 4SN6 480 10 2
s Q9 a7 4HW4 420 100 5 ||a 98 s 52 4sS5 450 0.0 5
v AQ762 v KJ85 4HE4 420 100 2 ||e J832 _— v AQ764 5CN6 420 1.0 1
¢ JT8 ¢ A532 ¢ T9732 + KQsé 2NS6 240 5.0 1
& KQT & 8632 & JT & 52 6SS-1 50  -11.0 1
®9veN LATS64 ®¢veN ,AKQ63
N ~~~3~ @3 N 6~~66 «T9
S ~~~3~ ¢K974 S 5~~52 ¢AM
E 224~~ aAJ7 E ~~~~~ &K64
W 224-~~ W ~~~~~
#17 a75 2NN2 -120 Mean: 3NS4 430 70 1 ||#18 » Q975 4SS-1 100 Mean: 5SS5 650 7.0 1
v QT98 3NN3 -400 150  3NN4 430 70 1 v KQJ82 2DXE-1-100 370 4SS5 650 7.0 2
*» QJ5 Dif: 280 NS:6 3NN3 400 60 3 . Dif: 200 Ns:-7 4SS4 620 6.0 5
» Q976 IMP: 7 EW:1 3DE-3 150 0.0 1 » AJ95 IMP: 5 EW:10 2HXW-2 300 -20 1
» AQ2 » J93 2NN3 150 0.0 1 ||a K3 # ATS 2DXW-1 100 7.0 1
v AJ53 v 642 2sS2 110 1.0 1 ||v T9753 v 64 2DXE-1 100 70 1
¢ 87432 + KT9 2NN2 1200 1.0 1 |]|e Q943 + K852 4881 100 -100 3
& & T432 3SS-1 -50 50 1 ||e Q4 & KT62
®IVON L, KT864 3NN-1 50 50 3 P¢VEN 4 J642
N 4~~32 K7 3NS-4 200 80 1[N 2~~32 ¢A
S 4~~42 ¢A6 S 2~~32 ¢ AJT76
E ~~~~~ aAKJ8 E ~1~~~ &873
W ~~~~~ W ~1~~~
#19 » 94 3DS5-150 Mean: 3NS4 430 70 1 [|# 20 » KJ43 3NS3 -600 Mean: 5DS5 600 70 1
v9 3DS4-130 120  3SE-2 200 20 1 v K63 3NS3 -600 300 3NS3 600 7.0 6
+ K97532 Dif: -20 NS:0 2NS4 180 20 1 ¢ JT652 Dif: 0 NS:7 2HE-2 200 3.0 1
» QJ74 IMP: -1 EW:-1 3DS5 150 1.0 2 a A IMP: 0 EW:-7 4DN5 150 40 1
» KJ65 » QT873 3DN5 150 1.0 1 ||a A65 » QT87 2SN2 10 50 1
v KQT7 v 8542 3DS4 130 00 3 ||v AJT2 + v Q985 5DN-1 100 9.0 3
* Q84 oT 3DN4 130 00 2 ||e 83 *4 3NN-1 100 9.0 1
& T9 & A53 3SE-1 100 1.0 1 ||s Q865 & J732
PEVEN LA2 3NS-1 50 50 1 POIVEN 4,92
N 55~ ~2 ¢AJ63 3NS-4 -200 -80 1 N ~5~~3 74
S 55~~2 ¢AJ6 S ~5~~3 ¢ AKQ97
E ~~11~ aK862 E ~~1~~ a&KT9%4
W ~~11~ W1~1~+~




e V3 % jrir- “ _ 8 8
8 114 F 2FApERE le =R
L v L
Vo axq
#1: 13 ZZ{B(121.1) #2: 3 Oceans(103.05) #3: 1 BEFX(103.03)
1 1 NS: SEHEZ FEEEEF C) 2 NS: EEZE RENE(BAO) 2 VP:| 13.72 : 6.28 | Total VP: 66.25 Rank:
EW: RIHET SHETEI0) EW: 3B SAIEZ(BAC) IMP:| 33 22 11
_ __ -
# 11 a 52 4HW5 450 Mean: 3CXS3 470 130 1 ||# 12 » 962 3NE4 430 Mean: 3NE-2 100 80 1
v T4 3HW3 140 -330  4CN-3 150 50 1 v QT84 3NE3 400 -240  4NW-1 50 70 1
¢ T53 Dif: 310 NS:5 3HW3 140 50 1 ¢ Q9653 Dif: 30 NS:-4 3NE-1 50 7.0 3
» AQJ832 IMP: 7 EW:3 3HW4 170 40 1 a3 IMP: 1 EW:5 3NE3 400 40 7
KQ7 » T963 4HW5 450 30 2 ||a KT5 » AQ4 3NE4 430 50 2
v AK8762 v J53 4HW4 -420 -3.0 7 ||e J953 I v K7
* 72 + KQJ9s 5CXN-4  -800 -10.0 1 ||e K8 ¢ J74
& 65 s K & K987 & AQJTS
*eveN LA ®eveN L, J373
N 3~~~1¢Q9 N ~~~~~ ¢ A62
S 3~~~1 ¢A64 S ~~~~~ o4 AT2
E ~342~ aT974 E 4~~~3 a642
W ~342~ Wi4~~~3
# 13 » AQ7 2NS-1 100 Mean: 2NS3 150 40 1 # 14 & AK 4SW4 420 Mean: 3NW-2 100 30 2
v Q942 INS1-90 o 2NS2 120 30 4 v JT53 4SW-1-50 0 3NE-2 100 30 1
¢ 9832 Dif: 190 NS:3  1NS2 1200 30 1 ¢ T65 Dif: 470 NS:2 5DE-1 50 20 1
»92 IMP: 5 EW:3 1NS1 20 3.0 2 » 8642 IMP: 10 EW:9 4SW-1 50 20 6
s J54 N » T632 2NS-1 100 -3.0 4 ||s Q987543 sJ 3NW-1 50 20 1
v J65 v AT8 3NS-2 200 50 1 ||v AKS8 v 97 3sW3 140 -40 1
+ KQ74 + +6 S22 200 50 1 ||e Ja + AK9873 sW4 70 50 1
& KT6 & QJ543 & Q & KJT7 4SW4 -420 9.0 1
®eveN LKOS ®eveN ,T62
N ~22~1 ¢K73 N ~~~~~ ¢ Q642
S ~22~1 ¢AJTS S ~~~~~ Q2
E 1~n~~~ aAS87 E ~4~41 aA93
Wi1~~~~ W ~4~41
# 15 » KJ532 4SS4 -620 Mean: 4SXS4 790 130 1 ||# 16 » JT74 4SS5 -450 Mean: 6SN7 1010 110 1
v T94 4SS4 -620 10  4Ss4 620 120 4 v K5 5CN6 -420 450  4SS7 510 20 2
+ Q6 Dif: 0 NS:12 5HW-1 50 10 1 *5 Dif: -30 NS:-1 4SN7 510 20 1
» 954 IMP: 0 EW:-12 5SXS-1 200 -50 1 » AQ9873 IMP: -1 EW:0 4SN6 480 10 2
s Q9 a7 4HW4 420 -10.0 5 || 98 s 52 4sS5 450 0.0 5
v AQ762 v KJ85 4HE4 420 100 2 || J832 —_ v AQ764 5CN6 420 1.0 1
¢ JT8 ¢ A532 ¢ T9732 + KQsé 2NS6 240 5.0 1
& KQT & 8632 & JT & 52 6SS-1 50  -11.0 1
P¢VEN , AT864 *¢VveN , AKQ63
N ~~~3~ @3 N 6~~66 «T9
S ~~~3~ ¢K974 S 5~~52 ¢AM
E 224~~ aAJ7 E ~~~~~ &K64
W 224-~~ W ~~~~~
#17 a75 3NN3 -400 Mean: 3NS4 430 70 1 ||#18 & Q975 4SS5 -650 Mean: 5SS5 650 7.0 1
v QT98 3SS-150 150 3NN4 430 70 1 v KQJ82 2DXW-1-100 370 4SS5 650 7.0 2
+ QJ5 Dif: -450 NS:-5 3NN3 400 60 3 . Dif: -550 NS:-7 4SS4 620 6.0 5
» Q976 IMP: -10 EW:-6 3DE-3 150 0.0 1 & AJ95 IMP: -11 EW:-7 2HXW-2 300 -20 1
» AQ2 » J93 2NN3 150 0.0 1 ||a K3 4 AT8 2DXW-1 100 7.0 1
v AJ53 v 642 2sS2 110 1.0 1 ||v T9753 v 64 2DXE-1 100 70 1
¢ 87432 ¢ KT9 2NN2 120 1.0 1 |]|e Q943 + K852 4881 100 -100 3
& & T432 3SS-1 -50 5.0 1||s Q4 & KT62
®IVON L, KT864 3NN-1 50 50 3 P¢VEN 4 J642
N 4~~32 K7 3NS-4 200 80 1[N 2~~32 ¢A
S 4~~42 ¢A6 S 2~~32 ¢ AJT76
E ~~~~~ aAKJ8 E ~1~~~ &873
W ~~~~~ W ~1~~~
#19 » 94 3DS4 -130 Mean: 3NS4 430 70 1 [|# 20 » KJ43 2HE-2 -200 Mean: 5DS5 600 70 1
v9 3DN5 -150 120  3SE-2 200 20 1 v K63 3NS3-600 300 3NS3 600 7.0 6
+ K97532 Dif: 20 NS:1 2NS4 180 20 1 ¢ JT652 Dif: 400 NS:7 2HE-2 200 3.0 1
» QJ74 IMP: 1 EW:0 3DS5 150 1.0 2 a A IMP: 9 EW:3 4DN5 150 40 1
# KJ65 # QT873 3DN5 150 1.0 1 ||s A65 » QT87 2SN2 10 50 1
v KQT7 v 8542 3DS4 130 00 3 ||v AJT2 + v Q985 5DN-1 100 9.0 3
+ Q84 T 3DN4 130 00 2 (|e 83 *4 3NN-1 100 9.0 1
& T9 & A53 3SE-1 100 1.0 1 ||s Q865 & J732
PEVEN LA2 3NS-1 50 50 1 POIVEN 4,92
N 55~ ~2 ¢AJ63 3NS-4 -200 -80 1 N ~5~~3 74
S 55~~2 ¢AJ6 S ~5~~3 ¢ AKQ97
E ~~11~ aK862 E ~~1~~ a&KT9%4
W ~~11~ W1~1~+~




e V3 % jrir- “ _ 8 8
8 114 F 2FApERE le =R
L v L
Vo axq
#1: 13 ZZ{B(121.1) #2: 3 Oceans(103.05) #3: 1 BEFX(103.03)
1 2 NS: REF FHEREAC) -13 7 NS: ZTE BRER(BAO) 24 VP:| 2.32 17.68| Total VP: 75.34 Rank:
EW: PRERE HZZZBEH0) -24 EW: BiF#E S1aIE(EAC) 13 IMP:| 19 438 9
_ -
# 11 a 52 4HW4 420 Mean: 3CXS3 470 130 1 ||# 12 » 962 3NE3 400 Mean: 3NE-2 100 80 1
v T4 4HW4 420 -330 4CN-3 150 50 1 v QT84 3NE-1-50 -240 4NW-1 50 70 1
¢ T53 Dif: 0 NS:-3 3HW3 140 50 1 ¢ Q9653 Dif: 450 NS:7 3NE-1 50 7.0 3
» AQJ832 IMP: 0 EW:3 3HW4 170 40 1 a3 IMP: 10 EW:4 3NE3 400 40 7
KQ7 » T963 4HW5 450 30 2 ||a KT5 » AQ4 3NE4 430 50 2
v AK8762 v J53 4HW4 -420 -3.0 7 ||e J953 I v K7
* 72 + KQJ9s 5CXN-4  -800 -10.0 1 ||e K8 ¢ J74
& 65 s K & K987 & AQJTS
*eveN LA ®eveN L, J373
N 3~~~1¢Q9 N ~~~~~ ¢ A62
S 3~~~1 ¢A64 S ~~~~~ o4 AT2
E ~342~ aT974 E 4~~~3 a642
W ~342~ Wi4~~~3
#13 » AQ7 1NS1 -90 Mean: 2NS3 150 40 1 ||# 14 & AK 4SW-1 -50 Mean: 3NW-2 100 30 2
v Q942 3NS-2200 © 2NS2 120 30 4 v JT53 3SW3140 o 3NE-2 100 30 1
¢ 9832 Dif: -290 NS:-5 1NS2 1200 30 1 ¢ T65 Dif: -190 NS:-4 5DE-1 50 20 1
»92 IMP: -7 EW:-3 1NS1 20 3.0 2 » 8642 IMP: -5 EW:-2 4SW-1 50 20 6
s J54 N » T632 2NS-1 100 -3.0 4 ||s Q987543 sJ 3NW-1 50 20 1
v J65 v AT8 3NS-2 200 50 1 ||v AKS8 v 97 3SW3 140 -40 1
+ KQ74 + +6 S22 200 50 1 ||e Ja + AK9873 sW4 70 50 1
& KT6 & QJ543 & Q & KJT7 4SW4 -420 9.0 1
®eveN LKOS ®eveN ,T62
N ~22~1 ¢K73 N ~~~~~ ¢ Q642
S ~22~1 ¢AJTS S ~~~~~ Q2
E 1~n~~~ aAS87 E ~4~41 aA93
W1~~~~ W ~4~41
# 15 » KJ532 5HW-1-50 Mean: 4SXS4 790 130 1 ||# 16 » JT74 6SN7 -1010 Mean: 6SN7 1010 11.0 1
v T94 4HW4 420 10  4Ss4 620 120 4 v K5 2NS6 -240 450  4SS7 510 20 2
+ Q6 Dif: -470 NS:-10 5HW-1 50 10 1 *5 Dif: -770 NS:-5 4SN7 510 20 1
» 954 IMP: -10 EW:-1 5SXS-1 200 -50 1 » AQ9873 IMP: -13 EW:-11 4SN6 480 10 2
s Q9 a7 4HW4 420 -10.0 5 || 98 s 52 4SS5 450 0.0 5
v AQ762 v KJ85 4HE4 420 100 2 || J832 —_ v AQ764 5CN6 420 1.0 1
¢ JT8 ¢ A532 ¢ T9732 + KQsé 2NS6 240 5.0 1
&« KQT & 8632 & JT & 52 655-1 50 1.0 1
®eveN LAT864 ®+veN L AKQ63
N ~~~3~ @3 N 6~~66 «T9
S ~~~3~ ¢K974 S 5~~52 ¢AM
E 224~~ aAJ7 E ~~~~~ &K64
W 224-~~ W ~~~~~
#17 a75 2SS2 -110 Mean: 3NS4 430 70 1 ||#18 & Q975 4S5S4 -620 Mean: 5SS5 650 7.0 1
v QT98 3NN4 -430 150  3NN4 430 70 1 v KQJ82 58S5-650 370 4SS5 650 7.0 2
+ QJ5 Dif: 320 NS:7 3NN3 400 60 3 . Dif: 30 NS:7 4SS4 620 6.0 5
» Q976 IMP: 8 EW:1 3DE-3 150 0.0 1 & AJ95 IMP: 1 EW:-6 2HXW-2 300 -20 1
» AQ2 » J93 2NN3 150 0.0 1 ||a K3 4 AT8 2DXW-1 100 7.0 1
v AJ53 v 642 2sS2 110 1.0 1 ||v T9753 v 64 2DXE-1 100 70 1
¢ 87432 + KT9 2NN2 120 1.0 1 []|e Q943 « K852 48S-1 100 -100 3
& & T432 3SS-1 -50 5.0 1||s Q4 & KT62
®IVON L, KT864 3NN-1 50 50 3 P¢VEN 4 J642
N 4~~32 K7 3NS-4 200 80 1[N 2~~32 ¢A
S 4~~42 ¢A6 S 2~~32 ¢ AJT76
E ~~~~~ aAKJ8 E ~1~~~ &873
W ~~~~~ W ~1~~~
#19 » 94 3SE-2 -200 Mean: 3NS4 430 70 1 [|# 20 » KJ43 5DS5 -600 Mean: 5DS5 600 70 1
v9 2NS4 -180 120  3SE-2 200 20 1 v K63 5DN-1100 300  3NS3 600 7.0 6
+ K97532 Dif: 20 NS:2 2NS4 180 20 1 ¢ JT652 Dif: -700 NS:-9 2HE-2 200 3.0 1
» QJ74 IMP: -1 EW:-2 3DS5 150 1.0 2 a A IMP: -12 EW:-7 4DN5 150 40 1
# KJ65 # QT873 3DN5 150 1.0 1 ||s A65 » QT87 2SN2 10 50 1
v KQT7 v 8542 3DS4 130 00 3 ||v AJT2 + v Q985 5DN-1 100 9.0 3
+ Q84 T 3DN4 130 00 2 (|e 83 *4 3NN-1 100 9.0 1
& T9 & A53 3SE-1 100 1.0 1 ||s Q865 & J732
PEVEN LA2 3NS-1 50 50 1 POIVEN 4,92
N 55~ ~2 ¢AJ63 3NS-4 -200 -80 1 N ~5~~3 74
S 55~~2 ¢AJ6 S ~5~~3 ¢ AKQ97
E ~~11~ aK862 E ~~1~~ a&KT9%4
W ~~11~ W1~1~+~




e V3 % jrir- s _ 8 8
8 114 F 2FApERE le =R
L v L
Vo axq
#1: 13 ZZ{B(121.1) #2: 3 Oceans(103.05) #3: 1 BEFX(103.03)
1 3 NS: 2858 BRHEUEAC) 16 4 NS: &K §1A7Z(BO) 15 VP:| 11.85 : 8.15 | Total VP: 121.10 Rank:
EW: 27 SEEEE0) -15 EW: SR T3IE EEM(EAC) -1 IMP:| 18 13 1
_ -
# 11 a 52 4HW4 420 Mean: 3CXS3 470 130 1 ||# 12 » 962 3NE3 400 Mean: 3NE-2 100 80 1
v T4 4HW4 420 -330 4CN-3 150 50 1 v QT84 3NE3 400 -240  4NW-1 50 70 1
¢ T53 Dif: 0 NS:-3 3HW3 140 50 1 ¢ Q9653 Dif: 0 NS:-4 3NE-1 50 7.0 3
» AQJ832 IMP: 0 EW:3 3HW4 170 40 1 a3 IMP: 0 EW:4 3NE3 400 40 7
KQ7 » T963 4HW5 450 30 2 ||a KT5 » AQ4 3NE4 430 50 2
v AK8762 v J53 4HW4 -420 -3.0 7 ||e J953 I v K7
* 72 + KQJ9s 5CXN-4  -800 -10.0 1 ||e K8 ¢ J74
& 65 s K & K987 & AQJTS
*eveN LA ®eveN L J873
N 3~~~1 Q9 N ~~~~~ ¢ AB2
S 3~~~1 ¢A64 S ~~~~~ o AT2
E ~342~ aT974 E 4~~~3 a642
W ~342~ Wi4~~~3
#13 » AQ7 2NS2 -120 Mean: 2NS3 150 40 1 ||# 14 & AK 4SW-1 -50 Mean: 3NW-2 100 30 2
v Q942 2NS2-120 0 2NS2 120 30 4 v JT53 3NW-2-100 © 3NE-2 100 30 1
¢ 9832 Dif: 0 NS:3 1NS2 1200 30 1 ¢ T65 Dif: 50 NS:3 5DE-1 50 20 1
»92 IMP: 0 EW:-3 1NS1 20 3.0 2 » 8642 IMP: 2 EW:-2 4SW-1 50 20 6
s J54 N » T632 2NS-1 100 -3.0 4 ||s Q987543 sJ 3NW-1 50 20 1
v J65 v AT8 3NS-2 200 50 1 ||v AKS8 v 97 3sW3 140 -40 1
+ KQ74 + *6 S22 200 50 1 ||e Ja + AK9873 sW4 70 50 1
& KT6 & QJ543 & Q & KJT7 4SW4 -420 9.0 1
®eveN LKOS ®eveN ,T62
N ~22~1 ¢K73 N ~~~~~ ¢ Q642
S ~22~1 ¢AJTS S ~~~~~ Q2
E 1~n~~~ aAS87 E ~4~41 aA93
Wi1l~~~-~ W ~4~41
# 15 » KJ532 4SS4 -620 Mean: 4SXS4 790 130 1 ||# 16 » JT74 4SS5 -450 Mean: 6SN7 1010 110 1
v T94 4SS4 -620 10  4Ss4 620 120 4 v K5 4SS7 -510 450  4SS7 510 20 2
+ Q6 Dif: 0 NS:12 5HW-1 50 10 1 *5 Dif: 60 NS:2 4SN7 510 20 1
» 954 IMP: 0 EW:-12 5SXS-1 200 -50 1 » AQ9873 IMP: 2 EW:0 4SN6 480 10 2
s Q9 a7 4HW4 420 -10.0 5 || 98 s 52 4sS5 450 0.0 5
v AQ762 v KJ85 4HE4 420 100 2 || J832 —_ v AQ764 5CN6 420 1.0 1
¢ JT8 ¢ A532 ¢ T9732 + KQsé 2NS6 240 5.0 1
& KQT & 8632 & JT & 52 6SS-1 50  -11.0 1
®eveN LAT864 ®¢veN ,AKQ63
N ~~~3~ @3 N 6~~66 «T9
S ~~~3~ ¢K974 S 5~~52 ¢AM
E 224~~ aAJ7 E ~~~~~ &K64
W 224-~~ W ~~~~~
#17 a75 3DE-3 -150 Mean: 3NS4 430 70 1 ||#18 & Q975 2HXW-2 -300 Mean: 5SS5 650 7.0 1
v QT98 3NN3 -400 150  3NN4 430 70 1 v KQJ82 4SS5 -650 370 4SS5 650 7.0 2
+ QJ5 Dif: 250 NS:6 3NN3 400 60 3 . Dif: 350 NS:7 4SS4 620 6.0 5
» Q976 IMP: 6 EW:0 3DE-3 150 0.0 1 & AJ95 IMP: 8 EW:2 2HXW-2 300 -20 1
» AQ2 » J93 2NN3 150 0.0 1 ||a K3 4 AT8 2DXW-1 100 7.0 1
v AJ53 v 642 2sS2 110 1.0 1 ||v T9753 v 64 2DXE-1 100 70 1
¢ 87432 ¢ KT9 2NN2 120 1.0 1 |]|e Q943 + K852 4881 100 -100 3
& & T432 3SS-1 -50 5.0 1||s Q4 & KT62
®IVON L, KT864 3NN-1 50 50 3 P¢VEN 4 J642
N 4~~32 K7 3NS-4 200 80 1[N 2~~32 ¢A
S 4~~42 ¢A6 S 2~~32 ¢ AJT76
E ~~~~~ aAKJ8 E ~1~~~ &873
W ~~~~~ W ~1~~~
#19 » 94 3DS4 -130 Mean: 3NS4 430 70 1 [|# 20 » KJ43 3NS3 -600 Mean: 5DS5 600 70 1
v9 3SE-1-100 120  3SE-2 200 20 1 v K63 5DN-1100 300  3NS3 600 7.0 6
+ K97532 Dif: -30 NS:-1  2NS4 180 20 1 ¢ JT652 Dif: -700 NS:-9 2HE-2 200 3.0 1
» QJ74 IMP: -1 EW:0 3DS5 150 1.0 2 a A IMP: -12 EW:-7 4DN5 150 40 1
# KJ65 # QT873 3DN5 150 1.0 1 ||s A65 » QT87 2SN2 10 50 1
v KQT7 v 8542 3DS4 130 00 3 ||v AJT2 _I_ v Q985 5DN-1 100 9.0 3
+ Q84 T 3DN4 130 00 2 (|e 83 *4 3NN-1 100 9.0 1
& T9 & A53 3SE-1 100 1.0 1 ||s Q865 & J732
PEVEN LA2 3NS-1 50 50 1 POIVEN 4,92
N 55~ ~2 ¢AJ63 3NS-4 -200 -80 1 N ~5~~3 74
S 55~~2 ¢AJ6 S ~5~~3 ¢ AKQ97
E ~~11~ aK862 E ~~1~~ a&KT9%4
W ~~11~ W1~1~+~




e V3 % jrir- “ _ 8 8
8 114 F 2FApERE le =R
L v L
Vo axq
#1: 13 ZZf8(121.1) #2: 3 Oceans(103.05) #3: 1 EEF.(103.03)
14 NS: BRZEER) BIREEEAC) -1 6 NS: #1288l PE=F(BAO) -4 VP:| 19.44 : 0.56 | Total VP: 89.82 Rank:
EW: 5R{EHH BEH42(BFO) 49 EW: 82# X HaFH(FC)1 IMP:| 53 11 4
- __
# 11 a 52 4HW4 420 Mean: 3CXS3 470 130 1 ||# 12 » 962 3NE-2 -100 Mean: 3NE-2 100 80 1
v T4 3HW4 170 -330  4CN-3 150 50 1 v QT84 3NE4 430 -240  4NW-1 50 7.0 1
¢ T53 Dif: 250 NS:4 3HW3 140 50 1 ¢ Q9653 Dif: -530 NS:-5 3NE-1 50 70 3
» AQJ832 IMP: 6 EW:3 3HWA4 170 40 1 a3 IMP: -11 EW:-8 3NE3 400 40 7
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#13 » AQ7 2NS-1 100 Mean: 2NS3 150 40 1 ||# 14 & AK 4SW-1 -50 Mean: 3NW-2 100 30 2
v Q942 1NS2-120 o© 2NS2 120 30 4 v JT53 3NE-2-100 0 3NE-2 100 30 1
¢ 9832 Dif: 220 NS:3  1NS2 120 30 1 ¢ T65 Dif: 50 NS:3 5DE-1 50 20 1
»92 IMP: 6 EW:3 1NS1 90 30 2 » 8642 IMP: 2 EW:-2 4SW-1 50 20 6
s J54 N s T632 2NS-1 100 -3.0 4 ||s Q987543 sJ 3NW-1 50 20 1
v J65 v AT8 3NS-2 200 50 1 ||v AKS8 v 97 3SW3 140 -40 1
+ KQ74 + *6 S22 200 50 1 ||e Ja + AK9873 sW4 70 50 1
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# 15 » KJ532 4HW4 420 Mean: 4SXS4 790 130 1 ||# 16 » JT74 6SS-150 Mean: 6SN7 1010 11.0 1
v T94 4HW4 420 10  4Ss4 620 120 4 v K5 4SN6 -480 450  4SS7 510 20 2
+ Q6 Dif: 0 NS:-10 5HW-1 50 10 1 *5 Dif: 530 NS:1 4SN7 510 20 1
» 954 IMP: 0 EW:10 5SXS-1 200 -50 1 » AQ9873 IMP: 11 EW:11 4SN6 480 10 2
s Q9 a7 4HW4 420 -10.0 5 || 98 s 52 4SS5 450 0.0 5
v AQ762 v KJ85 4HE4 420 100 2 || J832 —_ v AQ764 5CN6 420 1.0 1
¢ JT8 ¢ A532 ¢ T9732 + KQsé 2NS6 240 5.0 1
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#17 a75 3NN-150 Mean: 3NS4 430 70 1 ||#18 & Q975 45S-1 100 Mean: 5SS5 650 7.0 1
v QT98 3NN-150 150 3NN4 430 7.0 1 v KQJ82 4SS4 -620 370 4SS5 650 7.0 2
+ QJ5 Dif: 0 NS:-5 3NN3 400 60 3 . Dif: 720 NS:6 4SS4 620 6.0 5
» Q976 IMP: 0 EW:5 3DE-3 150 0.0 1 & AJ95 IMP: 12 EW:10 2HXW-2 300 -20 1
» AQ2 » J93 2NN3 150 0.0 1 ||a K3 4 AT8 2DXW-1 100 7.0 1
v AJ53 v 642 2ss2 110 1.0 1 ||v T9753 v 64 2DXE-1 100 70 1
¢ 87432 ¢ KT9 2NN2 120 1.0 1 []|e Q943 + K852 48S-1 100 -100 3
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#19 » 94 3NS-4 200 Mean: 3NS4 430 70 1 [|# 20 » KJ43 5DN-1 100 Mean: 5DS5 600 70 1
v9 3NS-150 120  3SE-2 200 20 1 v K63 3NS3 -600 300 3NS3 600 7.0 6
« K97532 Dif: 150 NS:-5 2NS4 180 20 1 ¢ JT652 Dif: 700 NS:7 2HE-2 200 -3.0 1
» QJ74 IMP: 4 EW:8 3DS5 150 1.0 2 a A IMP: 12 EW:9 4DN5 150 40 1
# KJ65 # QT873 3DN5 150 1.0 1 ||s A65 » QT87 2SN2 10 50 1
v KQT7 v 8542 3DS4 130 00 3 ||v AJT2 + v Q985 5DN-1 100 9.0 3
+ Q84 T 3DN4 130 00 2 (|e 83 ¢4 3NN-1 100 9.0 1
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